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9. Fitness index score (short term)

100 X test duration in seconds
5.5 x pulse count between 1 to 1.5 minutes after exercise

Here, the fitness index score is caleulated with short term formula.

For example, if the total number of test duration of a girl was 300 seconds and the
number of pulse count between 1 to 1.5 minutes was 80 then her fitness index score
will be:

100 x 300
= - 30090 _ gs.18

5.5 x 80 440

| > 90.0 > 86.0- | Excellent
80.0-90.0 | 76.0-85.9 | Good/above average
65.0-79.9 | 61.0-75.9 | Average
55.0-64.9 | 50.0-60.9 | Below average
< b5 < 50 Poor

s :
It means lier fitness is on average.

Very Short Answer Questions Carrying 1 Mark (20 to 30 words)
1. Calculate the body fat percentage of a 15 year old boy whose triceps and calf skinfold measurements
are 14 mm and 11 mm respectively by using Slaughter—Lohman children skinfold formula.
2. Calculate the fitness index score using short term formula for a 13 year old boy having noan_mﬁa
Harward step test for a duration of 180 seconds and his pulse count is 64 for 1 to 1.5 minutes.
3. Write down the formulae given by Slaughter/Lohman children skinfold for girls and boys to calculate
the body fat percentage.

4. How will you calculate the fitness index score using the short term formula.

Short Answer Question Carrying 3 Marks (80 to 90 words)"
1. Discuss the zig-zag run for measuring agility and speed in detail.

Long Answer Question Carrying 5 Marks (150 to 200 words)
1. Elucidate the three item test battery for general motor fitness propounded by Barrow in detail.
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